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fy = 1KHz Modulating frequency

fo == 12KHz Carrier frequency Ag=1 Carrier amplitude
Mam =1 AM modulation index
m(Y) = cos(2~w~fm~t) ot = COS(2-1T-fC~I)
Sgsb(D = m(H-c(t)
gt = Ac-(l + uamm(t)) sam(®) = Ac-(l + uam~m(t))~c(t)

set up time vector, set to power of 2 to ease FFT calculation

N = 28 number of points n:=0.N-1 N = 256
tmax = 2 display 2 cycles of lowest frequency
f
m
tmax .
dt = N th ;= dt:n create time vector

1
—— = 500—
max



m(t) and Carrier Waveforms
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DSB-SC and Envelopes
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k:= O..E —1 index for FFT
2 —

length (sdsb(t)> = 256

s4s0()
Calculate FFT length(DSB) = 129

DSB := FFT (Sdsb Q)



DSB-SC Voltage Spectrum
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AM Modulation Index: p,, =1

AM and Envelopes
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k::O..E—l
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index for FFT
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length (sdsb(t)> = 256

Calculate FFT length(DSB) = 129
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AM Modulation Voltage Spectrum
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fn = 1KHz Modulating frequency
fo = 12KHz  Carrier frequency A.=1

Mam =1 AM modulation index

samfd) = AC-(l + uam~m(t))~c(t)

Carrier amplitude

A02
Pearrier = > Pcarrier = 0-5 Watt
A02 Mam2 . .
ush ° - 2 same power in upper and lower sidebands

2-Pygp = 0.25



